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1. TEAA AW IEe ARG T S Hi &id 7

(1) i< AEesen (2) H. SRR

() g WERE (4) TRA TR

Who was the first Indian Governor General of Independent India ?
(1) Lord Mountbatten (2) C. Rajagopalachari
(3) Rajendra Prasad (4) Warren Hastings

it Teta Foa SUTH. 91 Wi W@ Siven S i ?

(1) frdte FAR (2) HEiHg FHemeT

(3) T (4) . SEE T .

The Union Government decided to constitute a committee of Chief @ers of five states
to suggest measures to ease the sufferings of the people aftepalemyOnetisation. Who is

appointed as the head of the Committee ?

(1) Nitish Kumar ) Sarbanand®\wa1

(3) Mamata Banerjee @) E@abu Naidu

3. e faum faewma = Q
(a) dawue anfon e wimgeEid AT TATEAT IR AR
FIOW A TTET

(b) Hawym auft @t o
(c) HawH™ afor e |
SleteR! HI,/ g/

1) K (a) (3)  (a) T (b) (4) T (o)
Consider the foll tatements
{a) There i ention of a No Confidence Motion against the Prime Minister and

Counai inisters in the Constitution of India.

(b) A motion of No Confidence against the Prime Minister and Council of Ministers can
be introduced in Lok Sabha only.

(c) A motion of No Confidence against the Prime Minister and Council of Ministers can
be introduced in Lok Sabha and Rajya Sabha.

Which of the statement/s given above is/are correct ?
(1) Only (a) (2)  Only (b) (3)  (a) and (b) (4)  Only ()
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4. Hegon dfeen ofeen foeaiusr w6l T At g e oI9en geagnsiel geie

T fee.
(1) TIEdd GeiyEEE 2) EvEElT Gt
(3) WgEw ey (4) wEEELS AR

Mumbai’s First lady Collector, Sharwaree Gokhale left behind her flat in Mumbai for
after her death.

(1) Heart research (2) Kidney research
(3) Brain research (4) Diabetes research

5. ArReat 2016 A ‘TS T €€ 2016 A A TF =R hardd IO A ud anfi
N IES IR g .

(1) (2) e 3) = (4)

Joint Military Exercise ‘Hand in Hand 2016’ was held in Pune in 1:10 ber 2016 between
India and . @

(1) Russia {2) America (3) China G),\él) Japan

6. Wamm-mmmmm@mhmmm

ofdi yg@ S 3R ?
(1) faa =id ) .

3) TN (4) g
The centre announced a new committge, m a strategy to expedite the process of

transforming India into a cashless eco . 0 is the head of the committee ?
(1) Amitabh Kant B. Janardhan Reddy
(3) A. Ghosh i&m) N. Chandrababu Naidu
7. el fau faand =0 (b)
(a) HREHICH 81 g &t TheT R
(b) T T LR TR FivEr AR TR
(c) ¥ FHTI2 9 qui N e
A EE ) /A ST 3R /T ?
1) fa) (2) (b) 3 () (3) K (o) (4) (a) 3T (c)

Consider the following statements :

(a) Bharatmala is the ambitious Project of Central Government.

(b) The construction of 25,000 km roads will be undertaken during this projects.
() This project will be completed by 2018.

Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) (b) and () (3)  Only (c) (4) (a) and (©)
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8. TeATHISiea ANigyieh qeie Heuld qRieTdsh! hvr/ faue/ S a9 ag/d 1 fae
(a) T WIS - ST SreReEl yRefud FTArESisl e AT S,
(b) A AIIG T S a B v AR,

Tt FR/d faue/3 steT /4 ?
(1) P (a) (2) P (b)
3)  (a) Sf (b) @) (a) STf (b) & T

Consider the following statement/s regarding the Directive Principles of State Policy.
(@) The principles spell out the Socio-economic democracy in the country.

{(b) The provisions contained in these principles are not enforceable by any court.
Which of the statement/s given above is/are correct ?

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) Neither (a) nor (b)

9. I Afgen fifthe HEM Wifered HeTen s * oy %9’ fae. m:@ﬁmﬁaﬁ@w
TGl TR el el g ?

1) oot oS ) 6

(3) Rt FAW (4) Fﬂ?ﬁ HivAT
The Indian Women's Cricket Team won Asia Cup by beah@a istan. Who was adjudged
as the player of the tournament ?

{1) Mitali Raj (2) Thul wami
(3) Latika Kumari (4) Smgandhana

10. YRAE HfTs gl oM 2016 Qe Sifm FHe qReTisl FIvr uE
(1) Wi%H (2) S (3) awife (4) sfesEm
Whom did Indian Junior Hock defeat in final match to win the World Cup in
2016 ?
(1) Pakistan Argentina (4) Belgium

11. wfwm unnaqw f%rumm IEELIETI
(2)
(b) ﬁ:ﬂ‘f@?f ﬁﬁwzolswwm@mwﬁw%qﬁrﬁfwﬁ.
() AT 39 IEId YAUUSH U IO UREAT WRAH B
e g :
(1) (a). () 2 b 3 @@ 4 =tawd

Considering following sentences about Mariyappan Thangavelu.

(a) He is an Indian Paralympic high jumper.

{(b) He represented India in 2016 Summer Paralympic games held in Rio De Janeiro.
(c) Heis India’s First Paralympic gold medalist in High Jump.

Select correct code :

1) (a), () 2) () (© (3) (a), (c) (4) All the above
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12, HSR U g0 I s s WRaTen Ui g9 el
(1) fodt =6 (2) =%
(3) o® TH (4) TWEAR 9F
Major Rohit Suri recently received the from President of India.
(1) Kirti Chakra (2) Shaurya Chakra
(3) Ashok Chakra (4) Param Vir Chakra

13. ‘U famg oieea’ qeteriat 1o Sewian QU 37 ?
(a) HawaH
(b) 1A, fam A
() ¥ Feltve wall .Q
(@) T g 6§
(1) e (b) ST (d) (2) wH (b)
(3) T (a) 3N () W@z

Who among the following constitute the Natj evelopment Council ?
(a) The Prime Minister

(b} The Chairman, Finance Commis Q

(c) Ministers of Union Cabmeto%

(d) Chief Ministers of the Stat

Select the correct answer usj codes given below :

(1) (b) and (d) only (2) (b)and (c) only
(3) (a)and (c) onl * (4) (a), (c) and (d) only

14. wAF wiqar ST YR AT GHEY [Redeh! HAM Hevell AL ?
1) ELEED (2) TaTE ARy A
(3) O FA (4) Tt g
In the Constitution of India, promotion of International Peace and Security is included in
the :
(1) Preamble to the Constitution (2) Directive Principles of State Policy
(3) Fundamental Duties (4) Ninth Schedule

HoAl SIS AR /SPACE FOR ROUGH WORK
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15. Q&S faumitent vkt faum/Y 9 sed d faer?
(a) WA FEEER U 3 TAHRMMET FEfaghie 5t SRl 3.
() & 93 @Eie adl T Yheda Snan AmeErE ST A gR A S 1000 WX
T I
1) K (a) 2 wWE) () (a) 3 (E) IR @) TR
Consider the following statement/s and select the correct answer :
(a) The Supreme Court banned the sale of alcohol along national and state highways.
(b) 1t set a deadline of April 1% next year to shut down all liquor shops situated at a
distance of 1000 meters from the edge of highways.
Answer Options :
(1) Only (a) () Only(b) (3) Both ()& (b) (47@%& (2) nor (b)
16. Hfgetlfaeg=n fEUER T FoAEEHE AU o™ i@ IR,
(1) 25"=TR (2) 10 @
(3) 16 feds 4) 25 %
International Day for elimination of violence a omen is on
(1) 25%" November ecember
(3) 16t December N December
17. RGO e A9 W e 47 \&mrr@uﬁawwmzolﬁmﬁﬁg@aﬂaﬁaﬂw
fasen gaviogy’ @R
1y I% 2 @) Wl g @ T[T
Which film bagged ‘GoNe Reacock’ award at the 47t International Film Festival of India
in Goa 2016 ?
(1} Rauf 2) Daughter (3) MellowMud (4) RaRa
18. v ‘ 3TEE™’ 91 SME Lending TSt Halee a1 QR STET Fetl 308 2
(1) &7 (2) Ve dF ® fea
@) fasar o= (4) o 3FF gfEa
Which Indian Bank has been adjudged as the Best Bank for SME Lending by Assocham ?
(1) Canara Bank (2) State Bank of India
(3) Vijaya Bank (4) Bank of India
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19. Weitd faum @& =1
(A) : TR T HEMIAT FRIh! FFa Teeeh Ao gEgadt @ e T Tl wfaffue
e o7,
(R) : TR U= HEHA YWt Aehuen Afera w3l /s Wi Wwagya yfafiie =,
mw:
(1)  (A) 3007 (R) € 91 fum 97 o/ (R) £ (A) X 30 S o,
(2) (A) 3T (R) € = faum drg oTRd 91F (R) & (A) & 979 SEIRTT AE,
(3) (A) ¥ forrge faum 1 71 (R) & I foum ot
(4) (A) R I faum o (R) # foaee ame.

Consider the following statements :

*
Assertion (A) : Out of the seven union territories only two i.e. D&md Pudducherry
have representation in Rajya Sabha.

.
Reason (R) : The Populations of other five union terri &@e too small to have any
representative in the Rajya Sabha. é

Answer options :
(1) Both (A) and (R) are true and (R) is the ¢ @x lanation of (A).
2) Both (A) and (R) are true but (R) is m}ﬁ' rrect explanation of (A).

(

(3) (A} is true but (R) is false.

(4) (A) is false but (R) is true. 6Q
20. Wi faum fo=me =0 - &\

(a) ‘'FEN A YR %jﬁ?lmmﬁﬁﬁﬁmﬁﬂm.
(b) 104 STIRUH FENT RS 3T A ST TEhi B,

2 wR@b) () @b (@) ArH T
Consider the Tollowing statements :
(a) India’s space agency “ISRO” launched a record 104 satellites.

(b)  Of the total 104 satellites, three were Indian and remaining belonged to International
Customers.

Which of the statement/s given above is/are correct ?
(1) Only (a) (2) Only(b) (3) (a)and (b) (4) None of the above
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21, RS HEFHEAR)

(a) ¥ AT FIHFSTA WEWIT 8IS WehaT.

(b) ? ArmadE SiEd 95 2% YA,

(c) ¥ AHEYd Jie YHhaw.

(d) T THEVT TAEH HE THAM.

Tt SR/ R fGuF/ T TR/9?

(1) T (a) (2) e (a) S ()

(3)  (b) Snf0n (d) R (4) T (a), (b) N (c)

Attorney General of India can :

{(a) Take part in the proceedings of Lok Sabha.

(b) Be a member of a committee of the Lok Sabha.

(c) Speak in the Lok Sabha.

(d) Vote in the Lok Sabha. . Q

Which of the statement/s given above is/are correct ? \

(;) %}’ (a) » (2) gﬁy (a) and () % .

4 y

(3) y (b) and (d) (4) ¢ y @) (b),fi;g
22. EE faum faamm = e Qﬂﬁﬁm

(a) anﬁmasszﬁseoﬁmﬁﬁﬁuuﬁ Hawia TR,

(b) ET TEEAdE e . 356 T4 TR a2 Hefig oTe.

() WA TERTNS Sl . 360 TS Hefim o,

et Hv/d faum/7 she 311%/36

(1) % () 2 @ M 3 ®FAE @ (a), G ()

Consider the following stateme: \

(a) Article 352 to 360 of Indi nstitution deals with various types of emergencies.

(b)  Article 356 of Indian tution is related with State emergency.

(c) Artcle 360 of Indjan titution deals with National emergency.

Which of the stateme given above is/are correct ?

(1)  Only (a) () and (b) (3) (b)and (q) 4) (2, (b)and (9
23, Qe HagyE Wy WE i T 500 F T 1000 FReTERTt wrER w6 sTEde

578 TN s

(1) 8 ¥rH 2016 (2) 8 TR 2016

(3) 8 R 2016 (4) 8 fedaX 2016

On which of the following days Prime Minister Narendra Modi announced that T 500
and ¥ 1000 would be just worthless piece of paper ?

(1) 8t March 2016 (2) 8™ October 2016

(3) 8th November 2016 (4) 8™ December 2016
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24, GRESHHT HIV TH IAM Tohod HIRERNT THIA SHE F9 WA G TehEs ?

(1) W (2) i (W) (3) efdrm 4) W

Which one of the following countries recently won Davis Cup by defeating Croatia in the
Final ?

(1) France (2) UsA (3) Argentina (4) Russia

25. YRAY O ST FIR STHAT UoEEEr VYol yrarsedia fhar arardia st s
FA TAL F& Vel ?
(1) IE Fileadl Hehiedid] HA AEvasHh 7.
(2) FHE! GEEEH RS UH! TS T,
@) et a1 frofam ywifaa groman oA i STeREE ST,
(4) TS FHIVENE ToaT=n HEdE Savdehal T,
The Parliament can make any law for whole or any part of° @lor implementing
International Treaties : .
(1) With the consent of all the states @
(2) With the consent of the majority of states

(3) With the consent of the states concerned QQ

(4) Without the consent of any state @

26. mwwmmﬁm@wmﬁv
(1) e St T N ST g

() T i Oyl i o age

Who from the following was ’ o bring women in the freedom movement ?
(1) Mahatma Jyotiba Ph (2) Sarojini Naidu

(3) Mahatma Gandhi % (4) Dr. Annie Besant

27, 1857 <1 ISEMK g &%ﬁ@ﬁﬂ?ﬁ%ﬁﬁém .

(1 1:2 2y 1:3 3 1:4 4) 1:5
After the rev 857 the ratio of the English Soldiers to the Indian Soldiers was fixed as
1) 1:2 2 1:3 3) 1:4 4 1:5
28. AL TBAq FSh wrn fafis 29
(1) @&SHA (2) <9 (3) EEm 4 ™
Vasudeo Balwant Phadke served as a clerk in department.
(1) Military (2) Post {3) Defence (4) Railway
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29, e Jood :

(a) WHEgEEl faaRETol () e fater

(b) oheits et (i) e der

(c) AR foarwi (i) STH. HFHEK

(d) WrEEE faarat (iv) 9. A

Tafdt sy

@ (b) () (d)

(1) (@ () ) (@

(2) (@) (v) @ @)

G O @ @ )

@) (v @ @ (i

Match the following :

(a) The Imperialist School (i) Valentine Chirol

)  The Cambridge School (i) Anil Seal . Q

(¢) The Nationalist School (iii) R.C. Muzumdar \

(d) The Marxist School (iv) R.P. Datt 6 .

Answer options : K

@ ® () (@ <

pgab e Q

2) (i) (iv) (1) (i

G O @ (@) (i) @

@) ) @) (@ (i) )
30. 2 ESIee WEX HuAE! I S0 -

(1) <RmEST <re (2) 3 W (4) <@ T

Who was the tounder of Tata & ic Power Company ?

(1) Dorabji Tata (2) &dji Tata (3) Ratan Tata (4) Virjeet Tata
31. 1789 94 & @A § aﬁﬂ'ﬁmm?

(1) SR (2) a4 FREH

3) Tw (4) = ies

Which was newspaper started in Bombay Presidency in 1789 ?

(1) Bomb zette (2) Bombay Courier

(3) Darpan (4) Bombay Herold
32, 1872 WY TH TSN 3HEHM SR i G F.

(1) @ Ash (2) <Ig s (3) i< Jort @) e foaea

was assassinated in 1872 by a Pathan in the Andaman Islands.
(1) Lord Mayo (2) Lord Dalhousie (3) Lord Wellesley (4) Lord Lytton
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33, Tl 7 A% § AdeNd AR

(1) o et ) A feaw

(3) R E (4) AT TR

According to Vedas are not ‘Apaurusheya’.

(1) Mahatma Gandhi (2) Lokmanya Tilak

(3) Mahatma Phule (4) Dayanand Saraswati
34, 'SR weE® & oo HYRR ST,

(1) e fotdt aeme 2) wiaTa FERYN 9%

(3) STHEHR TR (4) YRd BIE TFAB

The Chauri Chaura incident caused the end of this movement

(1) Anti Rowlatt Satyagraha (2) Civil Disobedience Movement

(3) Non-Cooperation Movement (4) Quit India Movement
35. WElcyeh! HIVEl S TERN Feaeeie Hard B ? Q

() wHRd f&, fagers foag wrdia &6

(b) AFSVR T, SN v M

(c) THTER TR, FETE W Q

(d) WSERY 9N, F. AR @

Tt I Q

1) (o) ) o (o) T \&{bﬁ)

(®) (a) ST (b) FoE (d)

Who from the following persony ated to the co—operatwe movement ?

(a) Bhausaheb Hire, Vitthalra X e Patil
(b) Vaikunthbhai Mehta, nanjay Gadgil

(c) Vasantdada Patil, Y trao Mohite
(d) Bhausaheb Thora . Devdhar
Answer options : .
(1) (a) (b) and (2)  (b), (c) and (d) only
(3) (a)and y 4) (@) (b), (c) and (d)
36. e Hre) S P wfeTEt e TR F e e ?
1) faumgn (2) YIRS ®eA
3) fr=m & 73 (4) wfeengw

Which of the following institutions for widows was established at Pune by Maharshi
Dhondo Keshav Karve ?

(1) Vidhva Ashram (2) Sharda Sadan

(3) Nishkam Karma Math (4) Mahilashram

HEAT HMMEIST A0 /SPACE FOR ROUGH WORK
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37. oA Adid 1857 <1 ISEM AT it el B,
(1) A= 9™ (2) wE I™
(3) =H Hifesn (4) A
1857 Revolt of Lucknow was led by .
(1) Begam of Avadh (2) Badi Begam
(3) Begam Sahiba (4) Begam Taj

38. 1949 W WU Wei¥h faemdiam= w9 Hielt ?

(1) =3 @ (3)  STHTTE (4) FeER
Which Regional University was established in 1949 ?
(1) Mumbai (2) Pune (3) Amaravati (4) Kolhapur

. N
39. 1908wwmawwmwﬁaﬁu$ﬁéﬁ?ﬁ7

(@) FR (b) gdu (c) Hem &% EELINIG

g 3L

(1) @, (b)) B (2) (a) (c), (d) PH (3) 4) (@) (d) B
Which of the following newspapers stopped thej ication on account of the stringent
provisions of the Act of 1908 ?

(a) Yugantar (b) Darpan hya Bandemataram

Answer options :

(1) (a) (b), (c) only (2) \1_ ), (d)only (4 (q), (d} only
40. wmmm@ﬁemm YATET TSR BT Set ?

(1) (2) sfema Frda i 1861

3) (4) TEFHe IffE g2 AT 1935

By which act di ritish Crown take over the administration of India from the East
India Compa

(2) Indian Councils Act 1861
(3) Government of India Act 1858 (4) Government of India Act 1935

41. AR e =6 He IR
(1) 1173 (2) 1273 (3) 1373 (4) 1473
The height of the Raireshwar peak is meter.
(1) 1173 (2) 1273 (3) 1373 (4) 1473
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42. U F JATUES TV A T doid el driE i 3R 7

1) 3d4 2) 299 (3) 199 @) 478
What is the difference of the local time between Saurashtra and Arunachal Pradesh ?
(1) 3 Hours (2) 2 Hours (3) 1 Hour (4) 4 Hours

43, TEATE IS WNfdS 8A6S HHLW. A RaT T3 87
e &Te.

(1) 307713, 9.36 (2) 306713, 8.36 (3) 305612, 9.36 (4) 305710, 7.26

The Geographical area of Maharashtra State is ___
% area of India.

(1) 307713, 936  (2) 306713, 836  (3) 305612, 9.3 @ 305710, 7.26
AN

sq. km and occupied

L 2
44, < fosrmda %W,ma@,wmﬁ@@ﬁ@hwmm
TR

(1) = (2) TR (3) @) sETEE

in South Bihar has emerged as centre of cement, paper and paper
board and plywood.

(1) Ranchi (2) Dalmiyan@ (3) Rurkela (4) Asansol

45. T SR S THARN AL ? &\

Where the a Lake is situated ?
(1) Between the delta of river Krishna and Kaveri

(2) Between the delta of river Godavari and Krishna
(3) Between the delta of river Ganga and Mahanadi
(4) Between the delta of river Mahanadi and Godavari

HeAT HIAMES AT /SPACE FOR ROUGH WORK
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46. Sired AE
et G IHE
(a) 3 ()  HHETR
(b) TEARY (i) v
(c) =TS (iii) RUTEETS!
(@) faygr (iv) Tend
it 3+

@ (b (9 (d)

(1) @ @ @) @
@ @ @ @@ (i)
(@) (v) () @) ()
@ @ @ G 0 O
Match the following : }
District Reservoir &6
(a) Thane () Dhamapur @
() Ratnagiri (i) Bhatsa Q
{c) Raigad (i) Fanaswadi @
(d) Sindhudurg (iv) Kalate
Answer options : @'
(@ ® () (d) %Q
1) @ (@) ()
@ O @ @ () \*
@) (v) (@) @@ @
@ ) Gv) @) (
‘ ”Q
47. el IR/ F5/%2 TaTs oo oI/ et ?
(a) &M b) Faed (c) B (d) fragh
it
1 @ (2) (), (), (d) @) ®)© @) (9 (d)
Which of the following hydel power station/stations is/are in Raigad district ?
(a) Vaitarna (b)  Yeldari (c) Bhira (d) Bhivpuri
Answer options : )
1 @ @ @ 6@ 6 0.0 @ © @

e HIATEE W /SPACE FOR ROUGH WORK
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48. i faue w@.
(a) AT G FHO T HHNS A aE AR,
(b) Fom g furmy et @R TRRE SRS AT Fm.
(c) Il 9 M Fei= U A JaTe  Wiofed’ W
watet 3
(1) wH fauF (a) IR 3R, (2) R fauE (b) IO AR
(3) fau (@) ofm (b) W aRA. (@)  fawd (a), (b) 370 () 0= aew.
Observe the following statements : Q

(a) Narsobawadi is near the confluence of river Panchgan E@i ishna.

{(b) The river basins of the river Krishna and Bhima

dongar Q
{c) The combine flow of the river Wardha an ga is called ‘Pranhita’.

Answer options : (b'

{1) Only statement (a) is correct. @Only statement (b) is correct.
(3) Statements (a) and (b) are {%ﬂil) Statements (a), (b) and (c) are correct.

arated due o Mahadeo

<

49. T 9 <RI TR Al z& fas aw.
(1) "= (2) SR
3) (4) Feeitene
pass lies between Central and South Sahyadri.
(1) Thalghat (2) Fondaghat
(3) Palghat (4) Kumbharlighat

oAl THTHTEIS AT /SPACE FOR ROUGH WORK
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50. Y SISl A&
Tereiat ot 41
(a) TRl () HAE
) T (i) =i
(c) A (i) N
(d) ¥wE (iv) Sieid
it 3T

@ () (g (9
O @ @ (v ()
(2) () @) @) (@)
(@) (i) G @ (@)
4) (v) () (@) @

Match the following : .
Shifting Cultivation Countries \Q
(a) Roca i)  Malaysia 6’
{b) Ladang ii) Brazil &
(c) Chena Zaire @
(d) Masole Sri Lanka Q
Answer options : @’
@ (b} () (d) Q
O @ 6 @ @ JoX
@ O @ @ AN
G @ @ O S
4) @v) (@) @@ (\\%
A9 1854 7L i el
SodeeR (3)  HLEE S (4) T ST W

was established at Mumbai in 1854 by .
D.G. Potdar (3) C.N. Dawar (4) Tata and Sons

PR
E

2

g g4 fammad! e wrma THE e TEdT.
(1) (2) IR 9 BT
(3) AR q g 4) fPraais
tribes live in the hills along the northern and eastern edges of the Deccan
Plateau.
(1) Garo and Khasi (2) Warali and Thakar
(3} Katkari and Halba (4) Bhil and Gond

HoAT HIMES AT /SPACE FOR ROUGH WORK
P.T.O.
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T feaer weum s’ 9 e aREt ¥ a9Eee seesdr, SR ;
(1) @ favm sfqqdadia waa v3w o,

(2) = faum SR Se| st sifies TS STETeT oW e,

(3) & favm Ie_R TamHEET AR,

4) = favm sfaee STent ST .

In Eastern Himalaya crops like jowar and bajra are rarely observed, because

(1) this is plain area in the far east
(2) this is the area of rugged topography and high rainfall
(3)  this is the area of warm climate
(4) this area is occupied by dense forest
54, IOTRCHHT GEERT AT Weledeh! I/ Hiort feme /== aia o/ 3ed ?
(a) 3T TTETE ST, . Q
(b) i IS BN .
(€) TIHhe TUF 4 fehrs . \6
(d) T ThICAT Jali= FHHAA ST, @
i I @v
(1) (a) (2) (d)
(3) (o) B (4) ©)
Which of the following feature/featur pical evergreen forest is/are correct ?
(a) Very dense forest
(b) Trees shed their leaves %9
(¢) Timber is hard and dura
(d) Lack of pure stands
Answer options : Q‘b'
(1) (a) only R (2) (@) (c) and (d)
(3)  (c) only @ (4) (b)and (c)
Nl
55. SIe=Al SR, IR, S st faem e & w1 wvEa.
(1) &= o, TS e AW Tl (2) <AL, 19 AT qist
() TTEwH, faww anfon fis (4) whmTSe, faeiert anfin = wig

In Western districts of Rajasthan namely, Jaisalmer, Barmer, Jodhpur and Bikaner
minerals are found.

(1) Iron ore, coal and manganese (2) Bauxite, mica and copper

(3) Limestone, gypsum and salts (4) Chromite, silica and iron ore

AT SRIHTETS ST /SPACE FOR ROUGH WORK
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T THTT &I TG haied 2.4 2R YWFT TIVE 38, ISUEl VI dishdel A
THU ST A @Ih] STTeeUId 16.85 ToFh TaE! A%, TeggUd A Heiedl Sl TS ed
A 916 UG ST, aX Ted HIF SaUiY 2 Set el Wielergent shivrdr U snfee sty
Teh IS Heh Wit 599 Tfeeied et SR $71ed 2

()  efrem T omd sedemsE gfhan

(b) Toeromsn e

(c) weft=n miadter fram

(d) oo wguleaT HeE T

it 3

(1) @3fm (2 G (@) (@A) (@) (b)=A(Q
India’s landscape is just 2.4 per cent of the total world area, whereas its population is
nearly 16.85 per cent of the world population. Population has rapidly increased due to

steady decline in the death rate, while birth rate has not declined significantly. Which
one economic and one social factor are responsible for continue to@mr high fertility ?

(a) Slow urbanisation process *
(b) Lack of education \
(c) Control of epidemics 6 .
(d) Decline in the incidence of malaria \
Answer Options :

(c)

(1)  (a) and (b) (2) (b)and () (3) (4) (b) and (d)

57. Wi SR foet SO T Jox

(1) R AHR (2) Fst

(3) A IR HOUA G- |

Which of the following is not an ins nt of fiscal policy ?

(1) Taxation % Public borrowing

(3) Open market operation 0& (4) Public expenditure

- > ‘ o

58. I om0 SR F% 5% T d 7% WA SUESTHE s el fhre shaeht

&It 2

(1) Xi=nfaa sy - () Xu =1 o s

(3) Xul=faq (4) T e

Which Finance ission recommended single rate of 5 percent for central GST and

7 percent for ST ?

(1) FC (2) FCXI

(3y FC (4) NITI Aayog
59. 1990-91 ¥&A YA fafa g TE o S

(1) TR FIL (2) T o SR

(3) =S aE (4) i SR

were most important export items in 1990-91 in India.
(1) Readymade garments (2) Gems and Jewellery
(3) Leather goods (4) Petroleum products

HoeT HIWETS! SR /SPACE FOR ROUGH WORK

P.T.O.
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Eiads! fadia s 2013-14 = FivE/ o e/ fFdeor stet 9@/q 2

(@) T 2013-14 AEA ARG @A TSI WdeEltaT S9 R HTd Hel.

(b) TN SEIARME Y& W qavEia d1g 2Nft1 YagHmEe fa FrishAaET 2.

) fadta T & USa SFd Seme 2.5% A1 YHIOI TR heft gl

Tt s

1 (a) @ ® G) (© 4) ¥ (@), (b) ()

Which of the following observation/s is/are not correct for the Budget 2013-14 ?

(a) In 2013-14 there has been a significant reduction in plan expenditure over the
budgeted levels.

(b)  The thrust of the budget was on higher investment and inclusive development agenda.

(c) Fiscal deficit was estimated to be 2.5% of the GDP.
Answer Options :

1) @ @ 0 ¢ (© (4) all(a), (b), (9

61. MM TEr=dl WRoaWed eIl T 3 ¢
(a) 7 TERA WRATT fgrd g et o, %_;
(b) (wﬁ)mmﬁwmgﬂwmﬁwﬁf@q (e STTIet Fserel Qe

oo & w0,
(c) = fmior .
it 3y :
1 @) (2 @Q AME) @) W (@) (b))

In India deficit financing mvolves
(a) Central government borrowmg £ e RBL
(b) RBI running down of accury h balances against the issue of treasury bills.
{c) Creation of money. \

(©)

Answer Options :

(1) (@) and (q) (%'Sd

(3)  (a) and (b) 4) All(@), (), (<)

62. faxig a9 2013-14 =01 &F TEa de g,
(1) de1 SfEeEE , FATH I WAl Agfaet oig daidies SO L 39 I,
(2) = FUTH SYA IS ARfae 9 dafdas TaET S FH Fel,
3) = STHRIC! HTAA Feq= HaTe] sgerell A8 T8 Safas A X g4 Tt
e

(4) TR ST THe! FTH 39 HATQ AEfael] dea Jafedad Tt &t ol aedel.
Budget for 2013-14 had the following :

1) increased then existing tax slabs and kept the personal income tax rates constant.
2) increased then existing tax slabs and decreased the personal income tax rates.

3) neither altered then existing tax slabs nor altered the rates of personal income tax.
4) increased then existing tax slabs and also increased the personal income tax rates.

S — — —

oAl THIATEIS AT /SPACE FOR ROUGH WORK
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63. TdaW % T fw (CDS) TER 2009-10 W YR R 6.6 25k wal.  CDS HHea
HeUd Gl I ST Set S ?
(a) I W 30 feaumTdie safer=an <X fegwrat s feardt fammm Seedt .
(b) A SR R PR .
(c) A A 3 T 1.
(d) ST ol S UF qE HH F AN TR A0 FHH I, 7 34 {579 FW e wH

e W
qatdt 39 :
(1) (a) 30 () (2) R (d) 3) (b) 3o (o) (4) TR (a)

The Current Daily Status (CDS) unemployment rate was 6.6 per cent in 2009-10. Which

of the following statements regarding CDS concept is correct ?

{a) It considers the activity status of a person for each day of the preceding 30 days.

(b) It indicates chronic unemployment.

{c) Itisa person rate.

(d) A person who works for one hour but less than four hours Qﬁldered having
worked for half a day.

Answer Options : 6
(1) (a)and (c) (2)  (d)only 3) (O and( (4) (a) only
64. IO ST WA 2012-13 wHE smaweﬁ ST 1.1%) 3Te ?
(1) I (2) M (3) (4) T
Which country occupied first position in IndigfSNghgorts (11.1 per cent) in 2012-13 ?
(1) USA (2) China Japan (4) UAE
65. Wmﬁmuﬁaﬁaﬁmaﬁaﬁwﬁw e AT W@ HR0 Gl
(1) g A |G T’ S B G GG [
(3) wepien sfuwfus wm g&f FleTdeh! HIVIAET &l
In the Ninth five year plan hi a of growth registered by the service sector was due to
(1) Massive govt. wa (2) Wage rate hikes in unorganised sector
(3) Larger bank bra{(_h opened (4) None of above

66. L=
(@)

yRargeR 71wy ot et
AHEE] SEavas qoel (8 S FL0aRd WEAR 3TII9.

(b) TSR AT IR G,
ELUGEED) AT A ?
(1) (a) 2 (b) (3) (a) 3T (b) (4) T TR

The need for deficit financing in India arises out of :
{a) failure of the government to mobilise the desired volume of surplus for public sector
plans.

(b) its rapidly growing expenditures on unproductive non-deve]opmental activities.
Which of the above is correct ?

1) @ 2} ® (3) (a) and (b) (4) Nonme

Tl HIFHERE AT /SPACE FOR ROUGH WORK
P.T.O.
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67.

22 A
1949-50 ¥ 2012-13 A1 Gl FHemALia we T TF FUIG YRATST AR I G
(Positive) T&qTHT BT,
(1) 1984-85 37 1996-97 (2) 2007-08 ST 2008-09
(3) 2009-10 afor 2010-11 (4) 1972-73 =fT 1976-77

Trade balance of India was positive in only two years during entire period 1949-50 to
2012-13 that are

(1) 1984-85 and 1996-97 (2) 2007-08 and 2008-09

(3) 2009-10 and 2010-11 (4) 1972-73 and 1976-77
68. 3T GURUTHAT=AT F@d ATT F GHATE UHT FH Ghe e el 7o
(1) w=A (2) g
(3) FEIEA (4) fervwd
In the post reform period, the ratio of indirect taxes revenue to te a@revenue :
(1) increased (2) decreased \
(3) became negative (4) remained con{@ ¢
69. ST SR GuRen Howia TH. Rided Ao oy giadie smIen A
e 1998 Wl WIeT Al ST &4 Ao Sroare Toh! IO A A A
ST BT GUROT 1998 <A1 e FHorel
(a) wiEa@m™T YU [al var=a1 Hewid A T ] e,
(b) IEHE SHEITRGT Aehin i FTU,
(c) ¥ 2000 7a WA dmi= 313 Taest (NPAs) 5 IIai0er @et o 3
2002 T4 3 FENe e
(d) mwaamﬁm%:wrﬁ% AT SIS HZhia TOITE HYR HL.

(1) (a) S0 (b) * Y st (@) () W (@) (4) THH(b)

ing sector reforms chaired by M. Narasimham submitted its report
of the following was not a recommendation of the committee on
rms, 1998, to strengthen the banking system ?

new and higher norms for capital adequacy.
(p) Recapitalisation of banks from the government budget.

(c)  Average level of net NPAs for all banks should be reduced to below 5 per cent by the
year 2000 and to below 3 per cent by 2002.

(d) Interestsubsidy element in credit for the priority sector should be totally eliminated.
Answer Options :

(1) (a) and (b) (2)  (c) and (d) (3) (@only (48 (b)only

The committee o
in April 1998,
banking sect

WHoAT WIS AT /SPACE FOR ROUGH WORK
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70. T Eer A w3via weita S e e
(a) ﬁm@*wumﬁmmﬁmﬁwmmmmmmm

(b) lemﬂwm%wmwmaﬁM}M%M T ooy T@T=1

HeHidid Iatd WHTUT T HIAM.
et FN T/ g SRET SR/ STRE ?
(1) K (a) (2) wH (b)
B3 (a) 30 () A @) e T

In connection with the money supply consider the following statements :

(@) Reserve Bank presently provides estimates of the supply of money in terms of M,
concepts of money supply.

(b) M, represents the highest degree of liquidity and My, M,, M, follow it in descending
order in terms of liquidity.

Which of the statement/s given above is/are correct ?

3 O =

(3) Both (a) and (b) (4) one of the a oveo\o

71. TER =Fi 2.0 W 940 ofid Hauadic o%q Tea9 9] wE @\aﬁwﬁwqmﬁm
Pt et (v et ermE ?
(1) +20 diopters (2) ~1.0 diopters (3) +1.
A person cannot see objects clearly beyond 2.0 m. T
his vision will be :

(1) +20 diopters (2) ~—1.0 diopters (3 % diopters (4) —0.5 diopters
72. 9 SV AEEER (Isobar) TEURE ST %

(1) e < e S HAne aEl
2) =g2A = Hem A A el
(3) =ggiT 3Ny WEfe S [ Tt 3
4) :ghaﬁﬁﬁﬁ%ﬁaa( el SO AHA

Two atoms are called Isobar,

ers (4) —0.5 diopters
er of lens required to correct

(1) Number of protonsj atoms are same
2)  Number of neutron oth atoms are same
ES) Sum of number ns and neutrons is same
(4) Sum of num rotons and neutrons is different
73. ulgq%ﬁ?r fae@ F & T FHATIR .
(1) ALA (2) Al Cu, Ag 3 Cu Al Ag (4) Ag Cu, Al

From metalectrical conductivity increases in the order of :
(1) Al Ag Cu (2) Al Cu, Ag (3) Cu, Al Ag (4) Ag Cu, Al

74. HEHRT AMEET SR SO IGHE B AR
(1) Toema vl (2) TR s
(3) TIHUEA ©E (4) Frude sgHREAE
The pollutant that caused Minamata disease is
(1) Methyl mercury (2) Methyl arsenate
(3) Tetraethyl lead (4) Methyl isocyanate

oAl HTETS ST /SPACE FOR ROUGH WORK
P.T.O.
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75. HIERY ATl H,O sefedid W HoS, HySe @ H,Te ¥ argfeudta sEoa &R
(1) Ao TR fagahorm
(2) wEZA WY
(3)  raTSAT Y[ sgatiendl
(4) ol wd
The liquid state of H,0O and the gaseous states of H,S, H,5e and H,Te at room temperature
are due to :
(1) higher electronegativity of oxygen
(2} hydrogen bonding
(3) polymerisation of water molecules

(4) all the above

76. 1A fa=[a Wemg We&FH! 1M NaCl, 1M KC1 3 1M RbCl <1 SEvIiqd a9t T Yt
wefaen. FEo Bomn uigen 79 TS (n ) S9F WY 3 .
(1) Ny, > O > Ngy, 2) n aSTx<n
(3) ny, =Ny =gy () H%ﬂ'ﬂﬂ#‘ﬁ“%ﬁ LG Q
1A of electric current is passed through each 1M NaCl, IM KCl] M RbCl solutions
separately for 1s. The correct relationship for the number of mol @ e metals deposited

is .

1 > > 2 <f,<

0 s 3 W

77. AR A gL v 1 WA ISR WA’ 3R TEURTA.
(1) st @

() feoidmwm 4)
In superorder Teleost i ommonly called as ‘Flying Fishes’.
(1) Anguilla Exocoetus
(3) Hippocampus Hemirhamphus
78. et YERTOfATden EATHY HIUET ?
(1) wremt,
(2) RSN, , T
(3) TRHINRE, , T
(4) TREETA, , o, TOidE

Which of the follg#u®® is correct sequence of events during spermatogenesis ?
: -}i 2, Spermatocyte, Spermatid, Sperm
$Qyyte, Spermatogonia, Spermatid, Sperm
(3) Spermmlycyte, Spermatid, Spermatogonia, Sperm
(4) Spermatogonia, Spermatocyte, Sperm, Spermatid
79. 71 yroftemidter qee # sffersrdier fferdt wwoit @,
(1) e 3 Sferne 2y A & feeeHtan
(3) TewSrien 3 smaieee (4) itoreree 7 fewdiien

Members of class of Annelida are hermaphrodite animals.
(1) Polychaeta and Oligochaeta (2) Oligochaeta and Hirudinea
(3) Hirudinea and Archiannelida  (4) Polychaeta and Hirudinea

HooT THTARATS AR /SPACE FOR ROUGH WORK
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80. TIMTHA o SBT3

(1) SRS (2) SRS (3) AUARE 4) feses

Endosulfan is an example of :

(1) Fungicide (2) Bactericide (3) Herbicide (4) Insecticide
81. T4 71 e Fam.

(1) SR @) ey (3) fErwEa (4) oifasiewiy

The ferns are classified in .

(1) Bryophyta (2) Gymnosperms (3) Pteridophyta (4) Angiosperms
82. 2-4, D AW Fie FHETOTEE A

1) ITSE FEw (2) STt STy

(3) T 4) fosmosg Tm

2 -4, D is used to control : . Q

(1) Parasitic Fungi (2) Parasitic bacteria \ :

(3) Weeds (4) Viral diseases .

4

83. Tmw Ffear % sfea Horm fifate ad= 3T 9 H ?

(1) oo o= Q

(2) %@ﬁm,f&iﬂv,mﬁva%ﬁm&ﬁﬁﬁﬂ%

(3) eUerafeq st =t v

4) Yurafe

Which is the Recombinant vaccine prodt{edNafid marketed by Serum Institute of India ?

(1) Measles vaccine %{

(2) Diphtheria, Tetanus, Pertu;s&\g epatitis B vaccine

(3) Hepatitis B vaccine

(4) Repoiten &\

7/

84. Yiged werggT= S W & 39 Hier s A Ui 21, ' Ao e

FHrea. .

(1) =N Q) W Afem

3) 3 (4) TSR g

During wo r I around one million people were infected by a disease called ‘“Trench

fever’. This ase is caused by which of the following agent ?

(1) Bartonella quintana (2) Staph aureus

(3) E. Coli (4) Klebsiella pneumoniae
85. fmg HEFET TR 2.

V) e (2) e (@) A ) T

Bile is formed in the .

(1} Kidney (2) Salivary gland (3) Liver (4) Lung

Tl HWEES ART /SPACE FOR ROUGH WORK
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86.

26 A
afge et 3ish/whie fEaelt 1A goen e oY 31aR #iS feoidt o
H/gfdF 4%39 $18@O@2#5 6 %73
FWHE : PMITRQJFHAEUNBGL

Trefl T& e/ i 9 fooren . 799 oF fodiem amda. o srdien dia A feeen
3ieh/ Wide TETE1 S1&R HI e A v Faer.

et :

() TR et T Yiae SN S T 3 | W, Y $IS WEL FeTaH.

(i) SR dfee o 3id oA ™ o yias F9E T I AFH BST HiSas FA.
(i) ofeet nfin 3 o< E TH SE THdE W IRl X S UM HIS HE.

(iv) dfect sufor oidm T Sl v ofe ST T A Y <0 §9E #1S .

ek / 9l TE: $1896©

(1) TRQJNH (2) RQJTNH

(3) NHJQRT 4) RQTJNH

In the first row numbers/symbols and in the second row, their le;tt@es are given :

Number/Symbol : 4 %39 $18@0O02#5 6 %75

Letter Codes : PMITRQ]FHAEUNB%Q

Below, a number/symbol group is given and some conditiorg{‘l Iso given. Under these

conditions, select the correct option of the letter code of % umber/symbol group.

Conditions :

(i)  If the first character of the group is symbol
interchange their codes.

(ii) If the first character of the group is num
code both, by the code of number.

(ii) If first and last characters both are e§

ast character is number, then

the last character is symbol, then

ers, then code both as ‘X'.

(iv) If first and last characters, both ar umbers, then code both as “Y".

Number/Symbol group: $ 1896 ©

1) TRQJNH .\E RQJTNH
%3; NH?{QRT (\ (4; RSITJNH
87. iR S wem e P oEa 2
1
(1) 36 ) 63 (3) 49 4) 94

Which one of tedoRowing number will occupy the blank space ?

(1) 36 2) 63 (3) 49 (4) 94

88.

fedtem dermride figq swit 9 vafg e

4,9, 17, 35, , 139.

(1) 69 (2) 80 3 71 (4) 92
Select correct alternative in blank space, in the given number series :

4,9, 17, 35, , 139.

(1) 69 (2) 80 @) 71 (4) 92

ol /IS SIPT /SPACE FOR ROUGH WORK
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89. WS ageedd wwe fafire framaar wee odd. wfsersn fewft 9 1o faen

ik
@ NIyaaNyaS
1y 7 (2) 13 3 (4) 35

The numbers in each circle are according to some rule. Select correct alternative in place
of question mark

(2) 13 (4) 35

90, W G Y-8 It Fivrt e I8 ?
65, 126, 217, 344,

(1y 513 (2) 413 3

In the following number series, which number w1ll come In p }luesnon mark ?
65, 126, 217, 344,
(1) 513 (2) 413 (3) (4) 502

91. WU x' A g/~ + A I+, + @ aﬁ@ym'—'?ﬂaﬁ AR %" W
WeeTh! HI0H THIHW TOET 3L ?

(1) 15-5+5x20+10=6 ) @—3+5x6=8

(3) 6x2+43+12-3=15 {4) “R—5x10+3=10

If ' x’ stands for * =7, * +’ stands for ‘ + 4 /X ds for ‘=’ and ' —' stands for * X’ then,
which one of the following equations i Qt ?

(1) 15-5+5x20+10=6 8+10-3+5%x6=8

(3) 6x2+3+12-3=15 ’\ ) 3+7-5x10+3=10

92. aﬁmmuﬁamﬁﬁw . FTedS Tagren fowmht Tut wen fociean wafarmya
8 5
(2) 18 4) 20

The numbers in the flgures are according to some rule. Find the number in place of
question mark from given alternatives.

3 5 4 7 2 9
14
8 5 10

FHoAl HwMMES AT /SPACE FOR ROUGH WORK

18 (4) 20
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93.

28 A
Wiete Hifcient TTETes A & I :
24, 6,48, 12, 96, 24, ,
(1) 191 (2) 192 (3) 193 (4) 194

Find the missing number in the following series :
24,6, 48,12, 96, 24, .
(1) 191 (2) 192 (3) 193 (4) 194

94,

et WA= BF i fecio aga. @relt faeresn framien stuR, < Eeid Tl S qed

frrau

(i) T UH A Sht GH HSHAR TG T GHGET 38 T Iieedn T&iel g 9T,

() W U A GEHG U AfYRT ST S o, W ST TR HE

(i) R TR Foro GEHR SR T oy de o @»m

(iv) ST UERT 1 ST G TE qof A STHUTN S St HE&AT 1 HEAel qieedr

) mmmwm@wﬁwma@mmmmw
& .

125 64 33
282 X 39 Q‘—a
SR gfeed sfiaa Hed X an?ﬁr Tﬂiﬂqﬂ
(1) 45 ©) (4 36

Two rows of numbers are g1ven % the questlon by calculating the value of each

row, on the basis of the followin he calculations of numbers are to be made from

left to right.
Rules : @'

(i) If after a two-digit eQumber, there is one more even number, then divide first by
.

ber there is a prime number, then multiply them.

(iv) If after ee-digit number, there is a two-digit square whole number, then subtract

(v) If after a three-digit number, there is a two-digit number, which is not square whole
number, then divide first number by the second.

125 64 33
282 X 39
If the value of the first row is ‘X', what is the value of second row ?
(1) 45 (2) 42 {3) 39 4) 36

Heedl HIHMEISE WRT /SPACE FOR ROUGH WORK
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@, ©, #, $ 3NT07 % 1 Wi ITANT YEAYHTT FI0AT STerel TR
POQ =1 314 17, P, Q Y&l &g el

PxQ =1 314 312, P, Q U&7 a1 &l 1t Q Uan o™ e,

P@Q <1 319 3TE, P, Q YT HIaT 718! 1M Q Tael e,

P$Q =1 314 T, P, Q W& et .

P#Q =1 319 2T, P, Q Y&l wie &t 1fi7 Q wael Ardl.

e A1 el 9t faur feeiet SRe it eer Fiedd dF ferd feee sRe. ferufamsa
g 91 99 fAast

faum - HxM;M@T;T$K
fres - (D-K#M
- Hox O
(1) e Frsme (1) sufor (1) e smRa 6’
(2) W T (1n) smiftr (1) srer 3mRa
(3) W freed (1) amifor (I0) SR 3mea Q
4) T (1), (1) enfin (100) 5 SRS o7 Q@'

The symbols @, ©, #, $ and * are used as f
POQ means, P, is not less than Q.

P*Q means, P, is not greater th ot less than Q.
P@Q means, P, is not greater thay d not equal to Q.
P$Q means, P, is not greater

P#Q means, P, is not less and not equal to Q.

On the basis of this thrée sif¢ments and three conclusions, derived from them, are given.
Select correct optio t the conclusions.

M;M@T;T$K
D) -K#M

Statements -

Conclusio

(I -T#H

(I -H@K
(1) Only conclusions (I) and (II) are correct
(2) Only conclusions (II) and (III) are correct
(3) Only conclusions (I) and (III) are correct
(4) Conclusions (I), (II) and (III) all are correct
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96, Teoiear W, B fa=sien s s feoel aHtetn ster dfa. v famgi=n
TR faee THieRT SR Bge, o9 A qai fHeel
2x3+6-12+4=17
(1) x amfr + (2) + 3mftr — (3) + a7 - (4) — afr =
The given equation becomes correct due to the interchange of two signs; in the given

equation. Find the correct alternative of signs, by interchanging of which, the equation
will be correct.

2x3+6—-12+4=17
(1) x and + (2) + and — (3) + and + (4) - and +

97, YaTeal Framia sactd S0 91 ST&R Afer! feeean e,

(a) azy, byx, cxw, dwv,

(b) zxa, ywb, xvc, wud,

’ .
(c) acz, bdy, cex, dfw, L \Q
(d) ayb, bxc, cwd, dve, . @ .

et T e faeiel 3R, U5 51 |ifetshs o7, <t Afers! 9

g - mmmn Q

i 3 {0

1) (@ 2 ® )

There are four letter series, following diffe es:

(a) azy, byx, cxw, dwv,

(b) zxa, ywb, xvc, wud, 6

() acz, bdy, cex, dfw, g? .

(d) ayb, bxc, cwd, dve, % .

One term is given below. Q t the series, to which it belongs.
XS

Term - mmn
Answer options :

1) (@ ) ®) 3) (9 @) (@

98. WM%WWWWWW7
17,30,47, _2 ,93
(1) 66 (2) 68 3 70 4 73
Which number will replace the question mark in the following number series ?
17,30,47, _2 , 93
(1) 66 (2) o8 3 70 4) 73
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99. U fafyre Hishfad wmqa ‘yak le di’ TEUR ‘sky is blue’, ‘'mok se le’ U ‘blood is red’ 30T
‘mok pi di’ I “sky and blood’ T ‘blood’ ISt VT Hehet 9 ?
(1) pi (2) mok 3y le (4) di
In a certain code language ‘yak le di’ means ‘sky is blue’, ‘mok se le’ means ‘blood is red’
and ‘mok pi di’ means ‘sky and blood” which code stands for ‘blood’ ?

(1} pi (2) mok @) le @) di

100. T FiK{qH WA ‘pik da pa’ =1 A4 3R ‘where are you', ‘da na ja’ =1 3¢ 3R ‘you may
come’ 30 ‘na ka sa’ =1 ¥4 371§ ‘he may go’. T I1 Fichiad HHTE ‘come’ IS HITAT Hehd
BEC P
(1) da (2} ja
(3) na @) (1), (2), (3) T =R TR
In a code language ‘pik da pa’ means ‘where are you’, ‘da na ja’ f@you may come’

and ‘na ka sa’ means ‘'he may go’. Then what is the code for some’ in this code
d,j 3

1 ?
O e @ ja @}

(3) na (4) None of 7 (3)
N
-o0o %Q
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AT — (78 1 &6 qE....)

®) vETIfearaes fafeq Foem fafire srie =2 @ (T o%) +E.  TYRasfaiEd sTufyeaR @
TR FOREL Fod FH Fed| T FIA F0AA AW FS5 TR, 3 TS MRS 9 AR SHEARE
IR SR 3o ' aieieed Qo e wfiey soaeeas Afufem-s2 ' ade SwEdaeR $rRan
Fog 3§ 9 AN AT FHO T T SREHE A/ fHa ¥ tF 79K WEe sere Ew
L e RIEC

(9) T T iEhaE ST fafsa Fod I UIeaHM SHSTNS & TYAYRaH a:alal THaeherans
USA WAE WA AR, AT TS THIET SUEgE JUEaNH ATedT ST -1

WAHAGETERS 7 AT W T avasE ok
1T U9
T . 201, TG 90 T FOTERT FO T IS hwes 2
(1) T ggFEE weEd @ Iyarag fammarR ’\Q
(3) S THHIE T4 @) T e 60

. 5. 201.

o W Ay W (3) T s U970 IR o7, IR “(3)" e TwE

TIEATHATIT T %, 201 FAle sa-waE ()Y uiqst BEifRa w6 grafao
o¥eX XE Q

9N YA TEIA FITgRdehdis THE1 IAGRATS & TRl Wi Qe
IATFAIS = = ' i A JuivT BEifed FE1 Sraadl.  gaRiar
e THicedT YIS ST |1 7S U A
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